BBC CiNA/RNIB  2012 January  clues by Rufus to a Sirius grid
This puzzle notes the tenth anniversary of a death.
Clues are numbered in alphabetical order of their solutions in the table below. The table has two columns. The first column gives the position of the clue in the alphabetical order going from one to twenty-six. The second column gives the directions for the clue and then the clue with the number of letters of the solution in brackets..
As the grid is completed, a couplet appears:

10aw, 14ac, 9d-3, 16ac-3, 17aw-3, 15, 18aw-3

10aw, 14ac, 9d-3, 16ac-3, 17aw-3, 2aw-last 4 letters
	Day
	

	1
	5d

First class oil mix in a mayonnaise (5)

	2
	17aw

It’s hot to the tongue, cold to the ear (5)

	3
	11aw

Kill doctor and confess  (5)

	4
	6d

Wood used in model-making (3)

	5
	8d

Low interest rate due to unemployment perhaps (5)

	6
	4d

Loud perpetual complaint (5)

	7
	4ac

Would this girlfriend be put out if you left her? (5)

	8
	12aw

She lost out in game show – Russian physicist required (5)

	9
	9d

Who damaged the Spanish cooper’s tool? (5)

	10
	14ac

Recognise a refusal when you hear it (4)

	11
	7ac

A sucker for old-fashioned medical treatment (5)

	12
	7d

Ground swells (5)

	13
	16 (in the grid this is represented by a heart symbol in one of the cells of the grid. There is no need to write the word in)

 Pointless affection (4)

	14
	16aw-3,19ac,20aw-2
Unusually firm clue for “compassionate” (8)

	15
	16aw

One not included in crimes involving cars in common use (5)

	16
	1d

Drop a note (5)

	17
	1ac,3d,7ac-3

See egg simply cooked for US singer (4,5,3)

	18
	16ac

Fortunate, turning fifty into a thousand initially – no way laundered  (5)

	19
	1aw,7ac-2

Keep warm and quiet  (6)

	20
	10aw

Service set-back about female entry? Not at all (5)

	21
	10ac

It’s uncool to have a frolicsome dingo (2,3)

	22
	3aw

Helps out in the pool (5)

	23
	2aw

Races around in alarm (5)

	24
	21ac

Ability that gets a runner £50 (5)

	25
	2d

Doc is prescribing alkaline (5)

	26
	13ac

Sound of an engine revving with velocity capacity (5)

	
	End of clues

	
	

	
	

	
	


